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Options :

485584134057. 1
485584134058. 2
485584134059. 3
485584134060. 4
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Group Number : 7
Group Id : 485584745
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Group Minimum Duration : 45

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 200

Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No

Geography

Section Id : 485584859
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 40

Section Marks : 200
Enable Mark as Answered Mark for Review and Clear Response :  Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 4855842425
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 151 Question Id : 48558433216 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

"Human Geography is the synthetic study of relationship between human societies and earth's surface” among
the following who gave the above definition on Human Geography.

1. Paul Vidal de la Blache
2. Ellen C Semple

3. Ratzel

4. Ralph W. Emerson

Options :

485584132861. 1
485584132862. 2
485584132863. 3
485584132864. 4

Question Number : 151 Question Id : 48558433216 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details : QCOI Ieged unia:
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Comprehension

MCQ
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Options :

485584132861. 1
485584132862. 2
485584132863. 3
485584132864. 4

Question Number : 152 Question Id : 48558433217 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Which one of the following is the name of Ethiopian capital?

1. Al Qahirah

]

. Tehran

. Canberra

LN

4, Addis Ababa

Options :

485584132865. 1
485584132866. 2
485584132867. 3
485584132868. 4

Question Number : 152 Question Id : 48558433217 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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Options :

485584132865. 1
485584132866. 2
485584132867. 3
485584132868. 4

Question Number : 153 Question Id : 48558433218 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

What 1s the percentage of would population living m urban areas in 20177
1.37%
2. 48%

.58%

LN

4,

L

4%

Options :

485584132869.
485584132870.
485584132871.
485584132872.

E VS S

Question Number : 153 Question Id : 48558433218 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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1.37%

2.48%

 38%

LS

4. 54%

Options :

4855841328609.
485584132870.
485584132871.
485584132872.

AW N =

Question Number : 154 Question Id : 48558433219 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Which one of the following is not the approach of human Geography?

1. Regional Analysis

]

. Areal Differentiation

. Technological Analysis

LN

4, Post-Modernism

Options :

485584132873. 1
485584132874. 2
485584132875. 3
485584132876. 4

Question Number : 154 Question Id : 48558433219 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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Options :

485584132873. 1
485584132874. 2
485584132875. 3
485584132876. 4

Question Number : 155 Question Id : 48558433220 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Who introduced stop and go determinism?

1. Ratzal

]

. Ellian sample

. Griffith Taylor

Tl

4. Paul Vidal de la Blache

Options :

485584132877. 1
485584132878. 2
485584132879. 3
485584132880. 4

Question Number : 155 Question Id : 48558433220 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584132877. 1
485584132878. 2
485584132879. 3
485584132880. 4

Question Number : 156 Question Id : 48558433221 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

"This happens when the birth rate 13 more than the death rate between two points of time" choose the right

from the following.
1. Stationary Population
2. Actual Growth of Population
3. Negative Growth of Population
4. Positive Growth of Population
Options :
485584132881. 1
485584132882.2

485584132883. 3
485584132884. 4

Question Number : 156 Question Id : 48558433221 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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Options :

485584132881. 1
485584132882. 2
485584132883. 3
485584132884. 4

Question Number : 157 Question Id : 48558433222 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

The 'Alaskan Highway' links which of the following?

L. British Colombia to St. John city

[ ]

. Edmonton to Anchorage

. Darwin to Malborne

LS

4. Algiers to Conakry

Options :

485584132885. 1
485584132886. 2
485584132887. 3
485584132888. 4

Question Number : 157 Question Id : 48558433222 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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Options :

485584132885. 1
485584132886. 2
485584132887. 3
485584132888. 4

Question Number : 158 Question Id : 48558433223 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

When and by whom Human development index was created?

1. Prof A. Shaws (1991)

]

. Prof Amartya Sen. 1990

. Dr. Mahbub-Ul-Haq. 1990

Tl

4. Prof Amartya Sen 1991

Options :

485584132889. 1
485584132890. 2
485584132891. 3
485584132892. 4

Question Number : 158 Question Id : 48558433223 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584132889. 1
485584132890. 2
485584132891. 3
485584132892. 4

Question Number : 159 Question Id : 48558433224 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Famous pipeline 'Big Inch' 15 located in

1. Saudi Arabia

]

. Qutar

. USA

Tl

4. Venezuela

Options :

485584132893. 1
485584132894. 2
485584132895. 3
485584132896. 4

Question Number : 159 Question Id : 48558433224 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584132893. 1
485584132894. 2
485584132895. 3
485584132896. 4

Question Number : 160 Question Id : 48558433225 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

How many of the following cities i world have attained the million status at the beginning of 2005,

!_J
o
L]

e |

. 469

LS

4.438

Options :

485584132897. 1
485584132898. 2
485584132899. 3
485584132900. 4

Question Number : 160 Question Id : 48558433225 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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1. 206
2.437

469

LS

4,438

Options :

485584132897. 1
485584132898. 2
485584132899. 3
485584132900. 4

Question Number : 161 Question Id : 48558433226 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Which among the following 1s not a factor that discourage women to migrate from rural to urban areas?
1. Shortage of housing
2. Paucity of job opportunities

. Low cost of living

LN

4, Lack of security in cities

Options :

485584132901. 1
485584132902. 2
485584132903. 3
485584132904. 4

Question Number : 161 Question Id : 48558433226 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

485584132901. 1
485584132902. 2
485584132903. 3
485584132904. 4

Question Number : 162 Question Id : 48558433227 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

In the Age sex pyramid a narrow base and a tapered top represents which of the following?

1. Declining Population Pyramid

]

. Constant Population Pyramid

. Expanding Population Pyramid

Tl

4. Triangular Shaped Pyramid

Options :

485584132905. 1
485584132906. 2
485584132907. 3
485584132908. 4

Question Number : 162 Question Id : 48558433227 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

485584132905. 1
485584132906. 2
485584132907. 3
485584132908. 4

Question Number : 163 Question Id : 48558433228 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Which one of the following states of India has the highest female literacy?

1. Tamil Nadu

[ ]

. Punjab

. Haryana

LS

4. Kerala

Options :

485584132909. 1
485584132910. 2
485584132911. 3
485584132912. 4

Question Number : 163 Question Id : 48558433228 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

485584132909. 1
485584132910. 2
485584132911. 3
485584132912. 4

Question Number : 164 Question Id : 48558433229 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

The first complete census was conducted in India in which year 7

1. 1861

]

. 1871

. 1881

Tl

4. 1891

Options :

485584132913.
485584132914.
485584132915.
485584132916.

A W N =

Question Number : 164 Question Id : 48558433229 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

-
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1. 1861
2. 1871
3. 1881
4, 1891
Options :
485584132913.
485584132914.

485584132915.
485584132916.

AW N —

Question Number : 165 Question Id : 48558433230 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

How many Railway Zones are there in India?

1.12

2. 14

faa
—
L

4.16

Options :

485584132917. 1
485584132918. 2
485584132919. 3
485584132920. 4

Question Number : 165 Question Id : 48558433230 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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14
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4.16

Options :

485584132917. 1
485584132918. 2
485584132919. 3
485584132920. 4

Question Number : 166 Question Id : 48558433231 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

According to Grierson (Linguistic Survey of India 1903-1928) how many languages were there in India?
1. 544
2.22

179

LN

4. 267

Options :

485584132921. 1
485584132922. 2
485584132923. 3
485584132924. 4

Question Number : 166 Question Id : 48558433231 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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1.544

2,22

4
.

179

LS

4. 267

Options :

485584132921. 1
485584132922.2
485584132923. 3
485584132924. 4

Question Number : 167 Question Id : 48558433232 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Which phase is referred to as the period of population explosion in India?

1. Phase I (1901-1921)

]

. Phase I1 (1921-1951)

. Phase ITI (1951-1981)

LN

4, Phase IV (Post 1981 till present)

Options :

485584132925. 1
485584132926. 2
485584132927. 3
485584132928. 4

Question Number : 167 Question Id : 48558433232 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

-
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1. WG I (1901-1921)
2. WIGRIT 1T (1921-1951)

3.UIGRYTIIO (1951-1981)

4. TIGRTIV (1981 & F1E T TG dP)

Options :

485584132925. 1
485584132926. 2
485584132927. 3
485584132928. 4

Question Number : 168 Question Id : 48558433233 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Which one of the following town / cities has not been developed as an administrative headquarters after

Independence?

1. JTamshedpur

~

2. Chandigarh
3. Gandhinagar
4, Dispur

Options :

485584132929. 1
485584132930. 2
485584132931. 3
485584132932. 4

Question Number : 168 Question Id : 48558433233 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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Options :

485584132929. 1
485584132930. 2
485584132931. 3
485584132932. 4

Question Number : 169 Question Id : 48558433234 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

The famous Nehru Trophy Boat Race (Vallamkali) 1 held in the backwater of which of the following?

1. Andhra Pradesh

]

. Goa

. Karnataka

Tl

4. Kerala

Options :

485584132933. 1
485584132934. 2
485584132935. 3
485584132936. 4

Question Number : 169 Question Id : 48558433234 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

.
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3. PACH
4. &d

Options :

485584132933. 1
485584132934. 2
485584132935. 3
485584132936. 4

Question Number : 170 Question Id : 48558433235 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Which one among the following classes comprises the maximum nmumber of town / cities in India as per
Census of India 20117

1. Class II

| ]

. Class III
3. Class IV
4. Class V

Options :

485584132937. 1
485584132938. 2
485584132939. 3
485584132940. 4

Question Number : 170 Question Id : 48558433235 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

.
gcollegedumas
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Options :

485584132937. 1
485584132938. 2
485584132939. 3
485584132940. 4

| ]

(¥ X

Question Number : 171 Question Id : 48558433236 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Which one of the following 1s an example of Ancient Town in India?

1. Prayag

]

. Hyderabad

. Delhi

Tl

4. Mumbai

Options :

485584132941. 1
485584132942. 2
485584132943. 3
485584132944. 4

Question Number : 171 Question Id : 48558433236 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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1. T
2. geNIElg
3. fewelt

s

Options :

485584132941. 1
485584132942. 2
485584132943. 3
485584132944. 4

Question Number : 172 Question Id : 48558433237 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Which of the following Indian state has the highest density of population?

1. Bihar

]

. Kerala

. Uttar Pradesh

Tl

4. West Bengal

Options :

485584132945. 1
485584132946. 2
485584132947. 3
485584132948. 4

Question Number : 172 Question Id : 48558433237 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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1. fagr
2. I
3. FWUSY
4. 9iEH ST

Options :

485584132945. 1
485584132946. 2
485584132947. 3
485584132948. 4

Question Number : 173 Question Id : 48558433238 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
The Ocean noise levels mn 2003-04 were about higher than in 1964-1966.

1. 20 decibels

]

. 10-12 decibels

. 5 decibels

Tl

4. 15-18 decibels

Options :

485584132949. 1
485584132950. 2
485584132951. 3
485584132952. 4

Question Number : 173 Question Id : 48558433238 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

.
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4. 15-18 SUtEdA

LS

Options :

485584132949. 1
485584132950. 2
485584132951. 3
485584132952. 4

Question Number : 174 Question Id : 48558433239 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Which one of the following contributes to the maxumum length of the roads in India?

1. National Highway

b

. State Highway

. Districts Roads

LS

4. Rural Roads

Options :

485584132953. 1
485584132954. 2
485584132955.3
485584132956. 4

Question Number : 174 Question Id : 48558433239 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

.
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1. P TR

2. I HEHRT

3. oo g5&

4. grEI g h
Options :
485584132953. 1
485584132954. 2

485584132955. 3
485584132956. 4

Question Number : 175 Question Id : 48558433240 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Which one of the following 1= an Inland Port?

1. Kochhi Port

]

. Ennore Port

. Kolkata Port

L]

4. Haldia Port

Options :

485584132957. 1
485584132958. 2
485584132959. 3
485584132960. 4

Question Number : 175 Question Id : 48558433240 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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1. BT
2. TR 9o
3. HIADIr 9o
4. BleaaiggA

Options :

485584132957. 1

485584132958. 2

485584132959. 3
485584132960. 4

Question Number : 176 Question Id : 48558433241 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Arrange the following approaches m the order?

A. Spatial organization

B. Exploration and deseription
C. Post modernism in geography
D. Regional Analysis

Choose the correct answer from the options given below:

1.LA.C.B.D
2.B. DA C
30D BA
4.D,A.CB

Options :

485584132961. 1

485584132962. 2

485584132963. 3
485584132964. 4

Question Number : 176 Question Id : 48558433241 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

.
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1.ACBD
2.B,D.AC
3.C.D.B.A
4. D.A.C.B
Options :
485584132961. 1
485584132962. 2

485584132963. 3
485584132964. 4

Question Number : 177 Question Id : 48558433242 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Arrange the following continents in descending order of population density

A, North America
B. Africa

C. Oceania

D. Asia

Choose the correct answer from the options given below:

1.D.B.A.C
2.D.C.B.A
3.D,A.B.C
4.D.A.C.B
Options :
485584132965. 1
485584132966. 2

485584132967. 3
485584132968. 4

-
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Question Number : 177 Question Id : 48558433242 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

e gegidl & owie 99d & fdiiel $H J oJafiyd &4

A. I AR
B. 3WHISHT

C. S

D. TR

2 e e faeedi 7 @ Ol SR ART

1.D;B. A, C
2.D.C.B.A
3D.AB.C
4D.ACB
Options :
485584132965. 1
485584132966. 2

485584132967. 3
485584132968. 4

Question Number : 178 Question Id : 48558433243 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

-
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Arrange the below mentioned Urban classification m correct sequence (small to large).

A. City

B. Conurbation
C. Megalopolis
D. Million City

Choose the correct answer from the options given below:

1.LABCD
22AD.B.C
3.A.C.B.D
4. C.B.D.A
Options :
485584132969. 1
485584132970. 2

485584132971. 3
485584132972. 4

Question Number : 178 Question Id : 48558433243 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

A fau o Ty ifesy &) Ol $9 (@18 9 99) | oIaied Sifor |

A TEY

B. T9TR

. faRt

D. fafero= frdt

=13 for 1y Rt 4 9 ol SRR

1.ABCD
22ADBC
3JAOCB.D
4.C.B.D.A
Options :
485584132969. 1
485584132970. 2

485584132971. 3
485584132972. 4

-
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Question Number : 179 Question Id : 48558433244 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Arrange the below mentioned technology phases with population growth periods in correct order from birth of

Christ to Present.

A. Biotechnology

B. Age of European exploration and colonization

C. Information and computers
D. Transportation development

Choose the correct answer from the options given below:

1.B.D.A.C
2B.D.C. A
3.B.C.D.A
4B.ADC
Options :
485584132973. 1
485584132974. 2

485584132975. 3
485584132976. 4

Question Number : 179 Question Id : 48558433244 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

-
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1.B.D.A.C
2.B.D.C.A
3B.C.D.A
4 B.AD.C
Options :
485584132973. 1
485584132974. 2

485584132975. 3
485584132976. 4

Question Number : 180 Question Id : 48558433245 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Arrange the following airports of India from east to west.

A. Shilleng
B. Allahabad
C. Udaipur
D. Patna

Choose the correct answer from the options given below:

1.,A.D.B.C
22A;D.C B
3.D.ACB
4D AB.C
Options :
485584132977. 1
485584132978. 2

485584132979. 3
485584132980. 4

.
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Question Number : 180 Question Id : 48558433245 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

YR & 8 argaH| @1 Ud 9§ OiYH 3 o § ondiyd Sifer|

A, B
B. qdleldliq

C. 34l
D. Gl

2 R e faeedl 7 @ 8 SR ART

1.L.ADBC
2.A.D.CB
3.D.AC.B
4.D.A.B.C
Options :
485584132977. 1
485584132978. 2

485584132979. 3
485584132980. 4

Question Number : 181 Question Id : 48558433246 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

-

collegedunias
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Choose indicators used to assess Human Development Index from below.

A. Purchasing Power

B. Happiness

C. Life expectancy at Birth
D. Gross Enrollment Ratio

Choose the correct answer from the options given below:

1. A.B.D only
2.A.C.Donly
3.B.C.Donly
4.B. A, Conly
Options :
485584132981. 1
485584132982.2

485584132983. 3
485584132984. 4

Question Number : 181 Question Id : 48558433246 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

49 & 9 [qeb19 ggois & A9 & UHE ddl (o)) B gHu|

A. Y i

B. UgH

C. S TR Sitd TerEn
D. &bl 3IUTd Usiieso

513 forg g et 4 4 O SRR

1.%qd A, B 3R D
PAd A, C AR D
3.%ad B, C IR D
4, HAAB,A AR C

(o]

Options :

485584132981. 1
485584132982. 2
485584132983. 3
485584132984. 4
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Question Number : 182 Question Id : 48558433247 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Major areas of rice production are:

A. Bihar

B. Karnataka
C. West Bengal
D. Chhattisgarh

Choose the correct answer from the options given below:
1. A.Band D only
2.B. Cand D only
3.A. Cand D only
4. A, B and C only
Options :
485584132985. 1
485584132986. 2

485584132987. 3
485584132988. 4

Question Number : 182 Question Id : 48558433247 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
q19d SdIed & WIS 89 5

A ToER

B. Flch
C. gfgm g1
D. SUE

A9 U e fdeedi § € 98t SR gHU:
1.%ad A, B IR D
2. %dd B, C AR D
3.%ad A, C HRD
4. $aA A, B AR C

-
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Options :

485584132985. 1
485584132986. 2
485584132987. 3
485584132988. 4

Question Number : 183 Question Id : 48558433248 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Read the following about Indira Gandli Canal Command Area carefully.

A. Indira Gandhi Canal was previously known as the Rajasthan Canal.

B. The Canal Project was launched on 31 March ,1948.

C. The Canal originates at Herike barrage in Punjab.

D. They command arca of stage-I lies in Ganganagar, Hanumangarh and northern part of Bikaner districts,

Choose the correct answer from the options given below:
1. A. B and C only
2. A.Band D only
3.A. Cand D only

4. B, C and D only

Options :

485584132989. 1
485584132990. 2
485584132991. 3
485584132992. 4

Question Number : 183 Question Id : 48558433248 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

.
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1. %d A, B IR D
2. %ad B, C IR D
3.%ad A, C HRD
4, HAAA, B AR C

Options :

485584132989. 1
485584132990. 2
485584132991. 3
485584132992. 4

Question Number : 184 Question Id : 48558433249 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Read the following statements about the North Western region of India carefully.

A. Rajasthan 1s rich in building stones i.e. sandstone, granite, marble.
B. Gujarat does not have petroleum deposits.

C. Gujarat and Rajasthan both have rich source of salt

D. This region provide raw material for Cement Industry

Choose the correct answer from the options given below:

1. A. B and C only
2. A.Band D only
3.A. Cand D only
4. B, C and D only
Options :
485584132993. 1
485584132994. 2

485584132995. 3
485584132996. 4
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Question Number : 184 Question Id : 48558433249 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

YRd & IR Ui e & e 1, Y oyl &1 argde uley|

A. XTSRRI YA (10T (SR JeR! oY Sq6f UeR, J15e, STREER 4fe 4 99% g

B. ToRTd § Ueifermd ag 7el €|

C. oRId g Yo &HI H 77 & g HId g1

D. U8 Ueq YIHUE I & Tl ATd UaH ®dl o |

A4 o u faeed 7 @ T SR AT

1. PAA A, B AR C
2. FIAA, BIRD
3.PaUA. CIRD
4. $aAB, C AR D

Options :

485584132993. 1
485584132994. 2
485584132995. 3
485584132996. 4

Question Number : 185 Question Id : 48558433250 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Which are the characteristics of Mechanised grain farming?

A. Tt 1s practised in the semi-arid land of mid-latitutes.

B. The size of the farm 1s too large.

C. Variety of crops are grown with livestock.
D. Entire operations of cultivation are mechanised.

Choose the correct answer from the options given below:

1.B. C and D only
2. A.Band D only
3.A.Cand D only

4. A, B and C only

-
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Options :

485584132997. 1
485584132998. 2
485584132999. 3
485584133000. 4

Question Number : 185 Question Id : 48558433250 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
mefi-ed ool Bt 3t famany s ot &

A. T8 09 &M & G- & § 1 1l 3

B. 9d &1 SR 9gd HUF SST gl o

C. Hyal ! fafay feed agsi & a1y e wd 1
D. B &I guw Tfafafiai o=ii-ied g |

A9 By g fdeedl § € w8t S g
1. A B, C HRD
2. FIAA, BIRD
3.PaUA. CIRD
4. HAAA, B AR C

Options :

485584132997. 1
485584132998. 2
485584132999. 3
485584133000. 4

Question Number : 186 Question Id : 48558433251 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

-

collegedunias

India’s largest Student Review Platform



Match List [ with List IT

LIST I (Country) |[LIST II (Mega city)
A |Peru I. Pakarta

B. [Indonesia II. PManila

C. |Brazil IIT. [Lima

D. |Philippines IV |Sao Paulo

Choose the correct answer from the options given below:

1. A-III, B-II. C-II. D-IV

2. AL B-1. C-IV, D-II

3. A-IV, B-11, C-1, D-ITT

4. A-IV, B-III, C-II. D-I

Options :

485584133001. 1
485584133002. 2
485584133003. 3
485584133004. 4

Question Number : 186 Question Id : 48558433251 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
It 1 %1 g4 1 9 fiar Sifore
AT e I
& i Rt
A |TE I |S@m
B. |geHfm | IL [&ten
C. | gii| 1L | ST
D. | ftpeirdtyg IV. | Tradt st

frafafad e & T 98l IR &1 994 $ifv -

1. A-TIL. B-I1. C-IL. D-IV

2. A-IIL B-1. C-IV, D-II

3. A-IV, B-IIL C-1, D-TII

4. A-IV, B-IIL. C-II. D-I

Options :

.
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485584133001. 1
485584133002. 2
485584133003. 3
485584133004. 4

Question Number : 187 Question Id : 48558433252 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Match List I with List IT

LISTI LISTII

Pollution Sources of pollution

Agr pollution [. |Urban run-off

Water pollution| II. [Advertising media

Land pollution | IIL. [Combustion of biofuels
Noise pollution| IV, [lmproper human activities

=l il bl I

Choose the correct answer from the options given below:
1. A-IV. B-1, C-II, D-III

2. A-IV, B-1LL C-IT1, D-I

Lad

CAL B-LL C-IV, D-II
4. A-IIL. B-II. C-1. D-IV

Options :

485584133005. 1
485584133006. 2
485584133007. 3
485584133008. 4

Question Number : 187 Question Id : 48558433252 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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1. A-IV. B-I, C-II, D-III
2. ATV, B-I1L C-II1, D-I
3. AL B-1, C-IV, D-1I

4. A-IIL. B-1I1. C-1. DIV

Options :

485584133005. 1
485584133006. 2
485584133007. 3
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Match List I with List IT
LIST 1 States LIST II Ports

A |Gujarat I. Mangalum

B. Maharashtra II. [Kandla

C. [Karnataka III. [Kochchi

D. [Kerala IV, Jawaharlal Nehr Port

Choose the correct answer from the options given below:

1. A-IL. B-L. C-III. D-IV
2. AL B-IV, C-1, D-IIT

VAT B-IV. C-ITT, D-I

(¥

4. A-IV, B-1I, C-I, D-III

Options :
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Match List [ with List IT

LISTI (Mining | 7 707 1 (State)
area)
A |kendujhar I. PMaharashira
B. [Ratnagiri II. PMadhva Pradesh
C. |katn: IIT. |Rajasthan
D. [khetri IV [Odisha

Choose the correct answer from the options given below:

1. A-II, B-1. C-IV, D-IIT
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3. A-IV, B-II, C-III, D-I

4. A-IT. B-IIIL C-IV, D-I

Options :

485584133013. 1
485584133014. 2
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Options :

485584133013. 1
485584133014. 2
485584133015. 3
485584133016. 4
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Match List [ with List IT

LISTI Splecmllsed LIST II Port
functions
A |Ports of Call I. |Copenhagen
B. |Packet Station II. [Kochi
C. |Entrepot Ports ITT. [Aden
D. [Navel Ports IV Dover
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1. A-III. B-IV. C-I, D-II

[

AL B-IIIL C-IV, D-I

CA-L B-IL CA-IOI, D-IV

LN

4. A-IV, B-1, C-II, D-III
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Read the passage and answer 5 questions that follow:

High technology. or simply high-tech, 1s the latest generation of manufacturing activities. It is best understood
as the application of intensive research and development (R and D) efforts leading to the manufacture of
products of an advanced scientific and engineering character. Professional (white collar) workers make up a
large share of the total workforee. These highly skilled specialists greatly outnumber the actual production
(blue collar) workers. Roboties on the assembly line. computer-aided design (CAD) and manufacturing,
electronic controls of smelting and refining processes. and the constant development of new chemical and
pharmaceutical products are notable examples of a high-tech industry.

Neatly spaced, low. modern, dispersed, office-plant-lab buildings rather than massive assembly structures.
factories and storage areas mark the-tech industrial landscape. Planned business parks for high-tech start-ups
have become patt of regional and local development schemes.

High-tech industries which are regionally conecentred, self-sustained and highly specialised are called
technopolies. The Silicon Valley near San Francisco and Silicon Forest near Scattle are examples of
techonopolies.

Manufacturing contributes significantly to the world economy. Iron and steel, textiles, automobiles,
petrochemicals and electronics are some of the world's most important manutacturing industries.

Which one of the following is not true about High-Tech industry?

1. High-Tech 1s latest manufacturing Industry

[

. It 13 intensive research and development unit

LN

. It 15 traditionally located close to the raw matenials

4, Absence of massive statements,factories, storage ete,

Options :

485584133021. 1
485584133022. 2
485584133023. 3
485584133024. 4
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Read the passage and answer 5 questions that follow:

High technology. or simply high-tech, 1s the latest generation of manufacturing activities. It is best understood
as the application of intensive research and development (R and D) efforts leading to the manufacture of
products of an advanced scientific and engineering character. Professional (white collar) workers make up a
large share of the total workforee. These highly skilled specialists greatly outnumber the actual production
(blue collar) workers. Roboties on the assembly line. computer-aided design (CAD) and manufacturing,
electronic controls of smelting and refining processes. and the constant development of new chemical and
pharmaceutical products are notable examples of a high-tech industry.

Neatly spaced, low. modern, dispersed, office-plant-lab buildings rather than massive assembly structures.
factories and storage areas mark the-tech industrial landscape. Planned business parks for high-tech start-ups
have become patt of regional and local development schemes.

High-tech industries which are regionally conecentred, self-sustained and highly specialised are called
technopolies. The Silicon Valley near San Francisco and Silicon Forest near Scattle are examples of
techonopolies.

Manufacturing contributes significantly to the world economy. Iron and steel, textiles, automobiles,
petrochemicals and electronics are some of the world's most important manutacturing industries.

Which one of the following are considered white collar workers?

1. Skilled specialist
2. Engineers

3. Farmers

4, Skilled workers

Options :

485584133025. 1
485584133026. 2
485584133027. 3
485584133028. 4
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Read the passage and answer 5 questions that follow:

High technology. or simply high-tech, 1s the latest generation of manufacturing activities. It is best understood
as the application of intensive research and development (R and D) efforts leading to the manufacture of
products of an advanced scientific and engineering character. Professional (white collar) workers make up a
large share of the total workforee. These highly skilled specialists greatly outnumber the actual production
(blue collar) workers. Roboties on the assembly line. computer-aided design (CAD) and manufacturing,
electronic controls of smelting and refining processes. and the constant development of new chemical and
pharmaceutical products are notable examples of a high-tech industry.

Neatly spaced, low. modern, dispersed, office-plant-lab buildings rather than massive assembly structures.
factories and storage areas mark the-tech industrial landscape. Planned business parks for high-tech start-ups
have become patt of regional and local development schemes.

High-tech industries which are regionally conecentred, self-sustained and highly specialised are called
technopolies. The Silicon Valley near San Francisco and Silicon Forest near Scattle are examples of
techonopolies.

Manufacturing contributes significantly to the world economy. Iron and steel, textiles, automobiles,
petrochemicals and electronics are some of the world's most important manutacturing industries.

Which of the following are an example of high-technology mndustry?

1. Textile production

[

. Robotics
3. CAD
4, Pharmaceutical

Options :

485584133029. 1
485584133030. 2
485584133031. 3
485584133032. 4
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Read the passage and answer 5 questions that follow:

High technology. or simply high-tech, 1s the latest generation of manufacturing activities. It is best understood
as the application of intensive research and development (R and D) efforts leading to the manufacture of
products of an advanced scientific and engineering character. Professional (white collar) workers make up a
large share of the total workforee. These highly skilled specialists greatly outnumber the actual production
(blue collar) workers. Roboties on the assembly line. computer-aided design (CAD) and manufacturing,
electronic controls of smelting and refining processes. and the constant development of new chemical and
pharmaceutical products are notable examples of a high-tech industry.

Neatly spaced, low. modern, dispersed, office-plant-lab buildings rather than massive assembly structures.
factories and storage areas mark the-tech industrial landscape. Planned business parks for high-tech start-ups
have become patt of regional and local development schemes.

High-tech industries which are regionally conecentred, self-sustained and highly specialised are called
technopolies. The Silicon Valley near San Francisco and Silicon Forest near Scattle are examples of
techonopolies.

Manufacturing contributes significantly to the world economy. Iron and steel, textiles, automobiles,
petrochemicals and electronics are some of the world's most important manutacturing industries.

Which of the following term 1s used for the usually concentrated. self-sustained and specialised industry?

1. Iron & steel Industry

[

. Textile industry
3. Automobile industry
4, Technopolies

Options :

485584133033. 1
485584133034. 2
485584133035. 3
485584133036. 4
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Read the passage and answer 5 questions that follow:

High technology. or simply high-tech, 1s the latest generation of manufacturing activities. It is best understood
as the application of intensive research and development (R and D) efforts leading to the manufacture of
products of an advanced scientific and engineering character. Professional (white collar) workers make up a
large share of the total workforee. These highly skilled specialists greatly outnumber the actual production
(blue collar) workers. Roboties on the assembly line. computer-aided design (CAD) and manufacturing,
electronic controls of smelting and refining processes. and the constant development of new chemical and
pharmaceutical products are notable examples of a high-tech industry.

Neatly spaced, low. modern, dispersed, office-plant-lab buildings rather than massive assembly structures.
factories and storage areas mark the-tech industrial landscape. Planned business parks for high-tech start-ups
have become patt of regional and local development schemes.

High-tech industries which are regionally conecentred, self-sustained and highly specialised are called
technopolies. The Silicon Valley near San Francisco and Silicon Forest near Scattle are examples of
techonopolies.

Manufacturing contributes significantly to the world economy. Iron and steel, textiles, automobiles,
petrochemicals and electronics are some of the world's most important manutacturing industries.

Which of the following workers are greatly affected by High-Tech Industry?

1. White collor workers
2. Blue collor workers
3. Red collor workers
4. Grey collor workers
Options :
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485584133040. 4
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Read the passage and answer 5 questions that follow:

Watershed management basically refers to efficient management and conservation of surface and groundwater
resources. It involves prevention of runoff and shortage and recharge of groundwater through various methods
like percolation tanks. Recharge wells. Etc. however. In broad sense watershed management includes
conservation. Regeneration and judicious use of all resources- natural (like land water plants and anunals) and
human with m a watershed. Watershed management aims at bringing about balance between natural resources
on the one hand and society on the other. The success of watershed development largely depends upon
cotmmunity participation.

The Central and State Government have initiated many watershed development and management programmes
in the country. some of these are being implemented by non-government organisations also. Haryali iz a
watershed development project sponsored by the Central Government which aims at enabling the rural
populations to conserve water for drinking, irrigation, fisheries and afforestation. The Project is being executed
by Gram Panchayats with people’s participation. Neeru-Meeru (water and you) programme (in Andhra
Pradesh) and Arvary Pani Sansad (in Alwar Rajasthan) have taken up constructions of various water-
harvesting structures such as percolation tanks. Dug out ponds (Johand). Check dams. ete... through people’s
participation. Tamil Nadu has made water harvesting structures in the houses compulsory. No building can be
constructed without making structures for water harvesting.

watershed development projects in some areas have been successful in rejuvenating environment and
economy. However. There are only a few success stories. In majority of cases. The programme i3 still in its
nascent stage. There 15 a need to generate awareness regarding benefits of watershed development and
management among people in the country. and through this integrated water resource management approach
water availability can be ensured on sustainable basis.

What 15 watershed?
1. It 15 efficient management and conservation of surface and groundwater resources.
2. Tt 18 a system of equitable distribution of water in an area.
3. It 15 a method of storing the canal water.

4, It 1s harvesting of natural streams.
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Read the passage and answer 5 questions that follow:

Watershed management basically refers to efficient management and conservation of surface and groundwater
resources. It involves prevention of runoff and shortage and recharge of groundwater through various methods
like percolation tanks. Recharge wells. Etc. however. In broad sense watershed management includes
conservation. Regeneration and judicious use of all resources- natural (like land water plants and anunals) and
human with m a watershed. Watershed management aims at bringing about balance between natural resources
on the one hand and society on the other. The success of watershed development largely depends upon
cotmmunity participation.

The Central and State Government have initiated many watershed development and management programmes
in the country. some of these are being implemented by non-government organisations also. Haryali iz a
watershed development project sponsored by the Central Government which aims at enabling the rural
populations to conserve water for drinking, irrigation, fisheries and afforestation. The Project is being executed
by Gram Panchayats with people’s participation. Neeru-Meeru (water and you) programme (in Andhra
Pradesh) and Arvary Pani Sansad (in Alwar Rajasthan) have taken up constructions of various water-
harvesting structures such as percolation tanks. Dug out ponds (Johand). Check dams. ete... through people’s
participation. Tamil Nadu has made water harvesting structures in the houses compulsory. No building can be
constructed without making structures for water harvesting.

watershed development projects in some areas have been successful in rejuvenating environment and
economy. However. There are only a few success stories. In majority of cases. The programme i3 still in its
nascent stage. There 15 a need to generate awareness regarding benefits of watershed development and
management among people in the country. and through this integrated water resource management approach
water availability can be ensured on sustainable basis.

Out of which one is the success story of watershed management in India?
1. Ahmednagar, Maharashtra

2. Gandhi Nagar, Gujarat

LN

. Alwar, Rajasthan

4, Andhra Pradesh
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Read the passage and answer 5 questions that follow:

Watershed management basically refers to efficient management and conservation of surface and groundwater
resources. It involves prevention of runoff and shortage and recharge of groundwater through various methods
like percolation tanks. Recharge wells. Etc. however. In broad sense watershed management includes
conservation. Regeneration and judicious use of all resources- natural (like land water plants and anunals) and
human with m a watershed. Watershed management aims at bringing about balance between natural resources
on the one hand and society on the other. The success of watershed development largely depends upon
cotmmunity participation.

The Central and State Government have initiated many watershed development and management programmes
in the country. some of these are being implemented by non-government organisations also. Haryali iz a
watershed development project sponsored by the Central Government which aims at enabling the rural
populations to conserve water for drinking, irrigation, fisheries and afforestation. The Project is being executed
by Gram Panchayats with people’s participation. Neeru-Meeru (water and you) programme (in Andhra
Pradesh) and Arvary Pani Sansad (in Alwar Rajasthan) have taken up constructions of various water-
harvesting structures such as percolation tanks. Dug out ponds (Johand). Check dams. ete... through people’s
participation. Tamil Nadu has made water harvesting structures in the houses compulsory. No building can be
constructed without making structures for water harvesting.

watershed development projects in some areas have been successful in rejuvenating environment and
economy. However. There are only a few success stories. In majority of cases. The programme i3 still in its
nascent stage. There 15 a need to generate awareness regarding benefits of watershed development and
management among people in the country. and through this integrated water resource management approach
water availability can be ensured on sustainable basis.

Watershed Management largely depends upon the

1. Central and state Government

[

. Community Participation
3. Management Programs

4. Development Projects
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Read the passage and answer 5 questions that follow:

Watershed management basically refers to efficient management and conservation of surface and groundwater
resources. It involves prevention of runoff and shortage and recharge of groundwater through various methods
like percolation tanks. Recharge wells. Etc. however. In broad sense watershed management includes
conservation. Regeneration and judicious use of all resources- natural (like land water plants and anunals) and
human with m a watershed. Watershed management aims at bringing about balance between natural resources
on the one hand and society on the other. The success of watershed development largely depends upon
cotmmunity participation.

The Central and State Government have initiated many watershed development and management programmes
in the country. some of these are being implemented by non-government organisations also. Haryali iz a
watershed development project sponsored by the Central Government which aims at enabling the rural
populations to conserve water for drinking, irrigation, fisheries and afforestation. The Project is being executed
by Gram Panchayats with people’s participation. Neeru-Meeru (water and you) programme (in Andhra
Pradesh) and Arvary Pani Sansad (in Alwar Rajasthan) have taken up constructions of various water-
harvesting structures such as percolation tanks. Dug out ponds (Johand). Check dams. ete... through people’s
participation. Tamil Nadu has made water harvesting structures in the houses compulsory. No building can be
constructed without making structures for water harvesting.

watershed development projects in some areas have been successful in rejuvenating environment and
economy. However. There are only a few success stories. In majority of cases. The programme i3 still in its
nascent stage. There 15 a need to generate awareness regarding benefits of watershed development and
management among people in the country. and through this integrated water resource management approach
water availability can be ensured on sustainable basis.

Which watershed development project is Sponsored by Central Government?

1. Arvary Pani Sansad

[

. Compulsory water harvesting structures in all houses
3. Neeru-Meeru

4, Haryali
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Read the passage and answer 5 questions that follow:

Watershed management basically refers to efficient management and conservation of surface and groundwater
resources. It involves prevention of runoff and shortage and recharge of groundwater through various methods
like percolation tanks. Recharge wells. Etc. however. In broad sense watershed management includes
conservation. Regeneration and judicious use of all resources- natural (like land water plants and anunals) and
human with m a watershed. Watershed management aims at bringing about balance between natural resources
on the one hand and society on the other. The success of watershed development largely depends upon
commmunity participation.

The Central and State Government have initiated many watershed development and management programmes
in the country. some of these are being implemented by non-government organisations also. Haryali iz a
watershed development project sponsored by the Central Government which aims at enabling the rural
populations to conserve water for drinking, irrigation, fisheries and afforestation. The Project is being executed
by Gram Panchayats with people’s participation. Neeru-Meeru (water and you) programme (in Andhra
Pradesh) and Arvary Pani Sansad (in Alwar Rajasthan) have taken up constructions of various water-
harvesting structures such as percolation tanks. Dug out ponds (Johand). Check dams. ete... through people’s
participation. Tamil Nadu has made water harvesting structures in the houses compulsory. No building can be
constructed without making structures for water harvesting.

watershed development projects in some areas have been successful in rejuvenating environment and
economy. However. There are only a few success stories. In majority of cases. The programme i3 still in its
nascent stage. There 15 a need to generate awareness regarding benefits of watershed development and
management among people in the country. and through this integrated water resource management approach
water availability can be ensured on sustainable basis.

Which of the following watershed management programme was started m Rajasthan?
1. Arvary Pani Sansad
2. Neeru-Meeru
3. Haryali

4, Water harvesting

Options :

485584133057. 1
485584133058. 2
485584133059. 3
485584133060. 4

Question Number : 200 Question Id : 48558433265 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

Comp?2

-

collegedunias

India’s largest Student Review Platform



TR BT ufeu R vkl & IR i

S SR HeeE I a1, T 9 9, SRIa0 R i 59 gaeH $ g4 veE 9 51 9% sfavid s6d
ST T AT SR fafi faftr, 59 - ofd: waur arare, IR niEe 81 qurty, fasga o & oa TR

g & 3idiia gt TareE.
& TR&U, AP 3R

S - ffy, S, O SR W) Sl ofer TR wied adr Sene
IR B GiEEferd fhar 31dT & | 99 9k VaHH 91 Se.8d Widad

T 3R TS & die Tge ol ¢ | 90-9HR 00 B Thad 581 &9 Y 9Yed & 95U i)

Rk el

Herg IR T WPR 3 ST H
T4 gRT t SaU ST 81

-G TP IR TEeE $Hed 9al & | 590 9 TS IR IRAN
&g WHR gRT uiod oa-gwR gy ofarsHn & orget

TeRT UTH FHEE B U, RS, T utad 3R 99 I901 & [0 @d &0 & 7Y Oy 9911 &
Ui e ST 3 e S 91 Ul g1 Heried 3 S 2

v Hies (STa 3R SY) BIADHH (3ATY TR T) IR HVFT 741 Gag (Sea A= §) & farid arll
& e ¥ (il o7a SUs0 SR O - 3d: Haul 9raE aTd (S159) B Gals B 1S © AR AP 9
AL U E | Aers H o)l T S GUs U SR 1 4 aRad B e g | foel ot R &
[T {61 STa uevl a1 941U Jal fodl o 9@ dl &l

T &1 H oel-R faepTe uRg eIl vaiarr SR Srfoua®il 1 Sriided SR H HPel §5 o [ Al
HHAd PO B 6l DI 6 | AU ge13f H HTUPH AU S0HH TR R el ¢ o= 4 anll &
a9 Ow GUR (9T SR YaHH & aHl 1 aaid: rSeHal 30 - ©f Gl ¢ SR 59 Uhipd

O ST YaYT SUNTY SR 9| Sudedl Idd ey enyR W A =9 3 #1 s 9%t 8l

9 H O S H I AHYR Vet SRieH, TS § 3R g3 U

1. 3N UHl 99

2, A dRE
3. girdt
4. O] Ul

Options :

485584133057. 1
485584133058. 2
485584133059. 3
485584133060. 4

Group Number :
Group Id :

Group Maximum Duration :
Group Minimum Duration :

Show Attended Group? :
Edit Attended Group? :

History
8
485584746
45
45

No
No Qcollegeduma
aaaaaaaaa gest Student Review Platform





